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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm ©̀V… {bI|&

Candidates must write first his / her Roll No. on the question paper
compulsorily.

2) g^rg^rg^rg^rg^r àíZ A{Zdm ©̀ h¢&

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI|&

Write the answer to each question in the given answer-sheet only.
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4) {OZ àíZmo§ _| AmÝV[aH$ IÊS> h¡§, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$‘m§H$ Adí¶ {bI|&

Write down the serial number of the question before attempting it.

6) àíZ nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVa _o| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr ^mfm
Ho$ àíZ H$mo hr ghr _mZ|&

If there is any kind of error / difference / contradiction in the Hindi & English
versions of the question paper, the question of Hindi version should be treated
valid.

7) àíZ H«$‘m§H$ 16 go 22 ‘| AmÝV[aH$ {dH$ën h¢& {H$gr EH$ {dH$ën H$mo hb H$s{OE&

Question Nos. 16 to 22 have the internal option. Attempt any one option.
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IÊS> - A
SECTION - A

1) ~hþ{dH$ënr àíZ : [15×1=15]
Multiple Choice Questions:

i) "X OZab Ï¶moar Am°’$ Båßbm°¶‘|Q>, BÝQ>aoñQ> E§S> ‘Zr' nwñVH$ Ho$ boIH$ h¡ - [1]
A) [aH$mS>m} ~) Om°Z ‘oZmS>© H$sÝg
g) ES>‘ pñ‘W X) ‘me©b
The author of the book 'The General Theory of Employment, interest and
money' is-
A) Ricardo B) John Maynard Keynes
C) Adam Smith D) Marshall

ii) CÚ‘r H$mo Am¶ H$s àm{á hmoVr h¡ - [1]
A) ‘‹OXÿar go ~) bJmZ go
g) bm^ go X) ã¶mO go
Entrepreneur gets income
A) From wages B) From rents
C) From profits D) From interests

iii) {ZåZ ‘| go {H$go d¡Ym{ZH$ nÌ H$hVo h¢ - [1]
A) gmoZo Ho$ {g o̧$ ~) Mm±Xr Ho$ {g o̧$
g) MoH$ X) H$a|gr ZmoQ>
Which of the following is called legal tenders-
A) Gold coins B) Silver coins
C) Cheque D) Currency note

iv) ì¶mnH$ ‘wÐm Ho$ Zm‘ go OmZr OmVr h¡ - [1]
A) m1 d m2 ~) m2 d m3
g) m3 d m4 X) m4 d m1
Known as broad money-
A) m1 and m2 B) m2 and m3
C) m3 and m4 D) m4 and m1

v) gr‘m§V ~MV àd¥{Îm VWm gr‘m§V Cn^moJ àd¥{Îm H$m ¶moJ hmoVm h¡- [1]
A) 0 ~) 0.5
g) 1 X) AZÝV
The total of marginal propensity to consume and marginal propensity to save
is -
A) 0 B) 0.5
C) 1 D) Infinite

[ Turn Over



4

6107SS–10–Economics (D&D)

vi) AàË¶j H$a H$m CXmhaU h¡ - [1]
A) Am¶H$a ~) {ZJ‘ H$a
g) gån{Îm H$a X) CËnmXZ H$a
The example of Indirect Tax is
A) Income Tax B) Corporation Tax
C) Wealth Tax D) Excise Tax

vii) ŷ{‘ A{YJ«hU go g§~§{YV h¡ - [1]
A) amOñd àm{á¶m± ~) amOñd ì¶¶
g) ny±OrJV àm{á¶m± X) ny±OrJV ì¶¶
Related to acquisition of Land is-
A) Revenue Receipts B) Revenue Expenditure
C) Capital Receipts D) Capital Expenditure

viii) OmnmZ H$s ‘wÐm H$m Zm‘ h¡ - [1]
A) ê$n¶m ~) S>m°ba
g) ¶oZ X) ¶yamo
Name of Japan's currency is-
A) Rupees B) Dollar
C) Yen D) EURO

ix) MrZ ‘| b§~r Ad{Y VH$ {ZåZ AW©ì¶dñWm àM{bV ahr - [1]
A) Ho$ÝÐrH¥$V ¶moOZm~Õ AW©ì¶dñWm ~) ~mOma AW©ì¶dñWm
g) {‘{lV AW©ì¶dñWm X) ¶o g^r
Following Economy prevailed in China for a long time -
A) Centrally Planned Economy B) Market Economy
C) Mixed Economy D) All these

x) gr‘m§V CËnmXZ g§̂ mdZm dH«$ h¡ - [1]

A) ~)

g) X)

Production possibility curve is-

A) B)

C) D)
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xi) ~obmoMXma ‘m±J H$s pñW{V h¡ - [1]
A) eD ~) eD
g) eD X) eD
The state of Inelastic demand is-
A) eD B) eD
C) eD D) eD

xii) ‘m±J Ho$ {Z¶‘ Ho$ AZwgma dñVw H$s H$s‘V Ed§ CgH$s ‘m±Jr JB© ‘mÌm Ho$ ‘Ü¶ gå~ÝY hmoVm h¡ - [1]
A) YZmË‘H$ ~) G UmË‘H$
g) ewÝ¶ X) AZÝV
According to the Law of demand, there is a relationship between the price of
a product and its quantity demanded-
A) Positive B) Negative
C) Zero D) Infinite

xiii) U AmH¥${V H$m dH«$ Zht h¡ - [1]
A) gr‘m§V bmJV dH«$ ~) Am¡gV bmJV dH«$
g) Hw$b n[adVu bmJV dH«$ X) Am¡gV n[adVu bmJV dH«$
Is not a U shaped curve
A) Marginal cost curve B) Average cost curve
C) Total variable cost curve D) Average variable cost curve

xiv) AënH$mbrZ gr‘m§V bmJV H$m gyÌ h¡ - [1]

A) smc =
TVC
q ~) smc = 

TC
q

g) smc = 
TC
q


X) smc = 

TC
q




The formula of short run marginal cost is-

A) smc =
TVC
q B) smc = 

TC
q

C) smc = 
TC
q


D) smc = 

TC
q




xv) Hw$b g§àm{á VWm Hw$b bmJV Ho$ ‘Ü¶ H$m A§Va H$hbmVm h¡ - [1]
A) ’$‘© H$m {ZJ©V ~) ’$‘© H$m bm^
g) ’$‘© H$s hm{Z X) BZ‘| go H$moB© Zht
The difference between Total Revenue and Total cost is called-
A) Firm's output B) Firm's profit
C) Firm's loss D) None of these

[ Turn Over
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2) [a³V ñWmZm| H$s ny{V© H$s{OE : [7×1=7]
Fill in the blanks :

i) ì¶{ï> AW©emó ‘m±J Am¡a ny{V© Ho$  .................. ~mOmam| H$m AÜ¶¶Z h¡& [1]

Microeconomics is a study of _______markets of demand and supply.

ii) ‘mb gyMr ‘| n[adV©Z H$mo ‘mbgyMr ........... H$hm OmVm h¡& [1]

Change in inventory is called Inventory _______.

iii) gmd©O{ZH$ joÌ Ho$ CnH«$‘mo Ûmam AnZo eo¶am| H$s {dH«$s, {Ogo gmd©O{ZH$ joÌ Ho$ CnH«$‘m| H$m .............
^r H$hVo h¡& [1]

The sale of shares in public sector undertakings which is referred to as public
sector undertakings ______.

iv) ny±Or ImVm, n[ag§n{Îm¶m| Ho$ g‘ñV ............... boZXoZm| H$mo XO© H$aVm h¡& [1]

Capital account records all ______transactions of assets.

v) Cn^moº$m Ho$ {bE CnbãY ~§S>bmo Ho$ goQ> H$mo ............... H$hm OmVm h¡& [1]

The set of bundles available to the consumer is called the _____.

vi) CËnmXZ dh à{H«$¶m h¡ {OgHo$ Ûmam AmJVm| H$mo ............. ‘| n[ad{V©V {H$¶m OmVm h¡& [1]

Production is the process by which inputs are transformed into_____.

vii) ¶{X {H$gr H$s‘V na ~mµOma ‘m±J ~mµOma ny{V© go A{YH$ h¡, Vmo Cg H$s‘V na ~mµOma ‘| .............
H$hbmVr h¡& [1]

If at a price, market demand is greater than market supply, we say that there is
an _____.



7

6107SS–10–Economics (D&D)

3) A{V bKwÎmamË‘H$ àíZ : [10×1=10]

Very short answer :

i) d¡¶{º$H$ à¶moÁ¶ Am¶ H$s n[a^mfm Xr{OE& [1]

Define the personal Disposable income.

ii) ^maV ‘| gH$b Kaobw CËnmX H$m AmH$bZ H$m¡Z H$aVm h¡- [1]

Who estimates the gross domestic product in India -

iii) ^maV gaH$ma Ûmam ~OQ> H$hm± noe {H$¶m OmVm h¡? [1]

Where is the budget presented by the government of India.

iv) amOñd ì¶¶ H$s JUZm H$s{OE, ¶{X amOñd àm{á¶m± 100 H$amo‹S> ê$n¶o VWm amOñd KmQ>m 50 H$amo‹S>
ê$n¶o h¡& [1]

Calculate Revenue Expenditure, If Revenue Receipts is Rs. 100 crore and
Revenue Deficit is Rs. 50 crore.

v) {dXoer {d{Z‘¶ ~m‹Oma ³¶m h¡? [1]

What is foreign exchange market?

vi) H$m¡Zgr {d{Z‘¶ Xa àUmbr Zå¶ {d{Z‘¶ Xa àUmbr Ed§ pñWa {d{Z‘¶ Xa àUmbr H$m {‘lU h¡?[1]

Which exchange rate system is a mixture of flexible exchange rate system and
fixed exchange rate system?

vii) Adga bmJV go ³¶m A{^àm¶ h¡? [1]

What is meant by opportunity cost?

viii) g§gmYZm| Ho$ {d{ZYmZ go Ame¶ ~VmBE& [1]

Explain what is meant by an allocation of the resources-

ix) ~OQ> aoIm H$m g‘rH$aU {b{IE& [1]

Write the equation of budget line.

x) àm¡Úmo{JH$s¶ àJ{V H$m ’$‘© Ho$ ny{V© dH«$ na ³¶m à^md n‹S>Vm h¡? [1]

What effect does technological progress have on a firm's supply curve?

[ Turn Over
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IÊS - ~IÊS - ~IÊS - ~IÊS - ~IÊS - ~
SECTION - B

bKw CÎmamË‘H$ àíZ :
Short Answer Questions :

4) ‘wÐm JwUH$ H$mo g‘PmBE& [2]
Explain the money multiplier.

5) AË¶{YH$ ‘m±J H$s pñW{V go Amn ³¶m g‘PVo h¢? [2]
What do you understand by a situation of excess demand?

6) ¶{X {MÌm§e H$s Hw$b Am¶ 200 én¶o h¡ VWm Hw$b Cn^moJ 100 én¶o h¡ Vmo Am¡gV Cn^moJ àd¥{Îm kmV H$s{OE&[2]
If Chitransh's total income is Rs. 200 and total consumption is Rs. 100, then find
the average-propensity to consume.

7) gr‘m§V Cn^moJ àd¥{Îm H$mo n[a^m{fV H$s{OE& [2]
Define marginal propensity to consume.

8) CnXmZ Am¶ Ed§ J¡a CnXmZ Am¶ ‘| ôX H$s{OE& [2]
Distinguish between Factor and Non factor Income.

9) ¶{X EH$ H$‘rµO H$s bmJV A‘o[aH$m ‘| 5 S>m°ba VWm ^maV ‘| 450 ê$n¶o h¡ Vmo ê$n¶m, S>m°ba H$s {d{Z‘¶ Xa
H$s JUZm H$s{OE& [2]
If a shirt costs $5 in the US and Rs. 450 in India. Calculate the Rupee-dollar
exchange rate.

10) H|$ÐrH¥$V ¶moOZm~Õ AW©ì¶dñWm H$s H$moB© Xmo {deofVmE± {b{IE& [2]
Write any two characteristics of the centrally planned Economy.

11) EH$ {Xï> A{Y‘mZ {H$go H$hVo h¡? g‘PmBE& [2]
Explain, what is monotonic preferences?

12) nyaH$ dñVwAm| H$mo CXmhaU H$s ghm¶Vm go g‘PmBE& [2]
Explain complementary goods with the help of example.

13) H$m°~ S>Jbmg CËnmXZ ’$bZ go Amn ³¶m g‘PVo h¡? [2]
What do you understand by the Cobb-Douglas production function?

14) AënH$mb ‘| EH$ ’$‘© H$s bm^ A{YH$V‘rH$aU H$s H$moB© Xmo eV} {b{IE& [2]
Write any two conditions for profit maximization of a firm in the short run.

15) CƒV‘ {ZYm©[aV H$s‘V H$mo ñnï> {H${OE& [2]
Explain price ceiling.
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IÊS> - g
SECTION - C

XrK© CÎmamË‘H$ àíZ :
Long Answer Questions :

16) gH$b Kaobw CËnmX JUZm H$s ì¶¶ {d{Y H$mo g‘PmBE& [3]
Explain the expenditure method of calculating gross domestic product.

AWdm/OR
""{H$gr Xoe Ho$ gH$b Kaobw CËnmX H$mo Cg Xoe Ho$ bmoJmo Ho$ H$ë¶mU Ho$ gyMH$m§H$ Ho$ ê$n ‘| Zht {b¶m Om
gH$Vm h¡'' VrZ H$maUm| Ûmam ñnï> H$s{OE&

"Gross domestic product of a country cannot be taken as an index of the welfare
of the people of that country", explain by three reasons.

17) dñVw Ed§ godmH$a H$mo g‘PmBE& [3]
Explain the Goods and Service Tax.

AWdm/OR
amOH$mofr¶ CÎmaXm{¶Ëd Am¡a ~OQ>r¶ à~§YZ A{Y{Z¶‘ 2003 H$s ‘ww»¶ {deofVmAm| H$mo g‘PmBE&

Explain the main features of Fiscal Responsibility and Budget Management Act
2003.

18) {ZåZ gmaUr ‘| Hw$b CËnmX Ed§ Am¡gV CËnmX H$s JUZm H$s{OE& [3]
Calculate total product and average product in the following table.

l‘ Hw$b CËnmX Am¡gV CËnmX gr‘m§V CËnmX
Labour Total product Average product Marginal product

0 ---- ---- -
1 ---- ---- 10
2 ---- ---- 12
3 ---- ---- 14
4 ---- ---- 10
5 ---- ---- 8
6 ---- ---- 3

AWdm/OR

[ Turn Over
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{ZåZ gmaUr ‘| Hw$b n[adVu bmJV Ed§ AënH$mbrZ gr‘m§V bmJV JUZm H$s{OE&
Calculate total variable cost and short run marginal cost in the following table.

{ZJ©V BH$mB¶m± Hw$b pñWa bmJV Hw$b n[adVu bmJV Hw$b bmJV AënH$mbrZ gr‘m§V bmJV
Output Total Fixed Cost Total Variable Cost Total Cost Short Run Marginal

units (q) TFC (Rs.) TVC (Rs.)  TC (Rs.) Cost SMC (Rs.)
0 10 ---- 10 ----
1 10 ---- 20 ----
2 10 ---- 28 ----
3 10 ---- 35 ----
4 10 ---- 41 ----
5 10 ---- 48 ----
6 10 ---- 56 ----

19) 20 ê$n¶o à{V BH$mB© ~mµOma H$s‘V na EH$ ’$‘© H$s g§àm{á 100 ê$n¶o h¡& ~mµOma H$s‘V ~‹T>H$a 30 ê$n¶o hmo
OmVr A~ ’$‘© H$s g§àm{á 300 ê$n¶o hmoVr h¡& ny{V© H$s H$s‘V bmoM kmV H$s{OE&> [3]
A firm earns a revenue of Rs. 100 when the market price of a good is Rs. 20. The
market price increases to Rs. 30 and the firm now earns a revenue of Rs. 300.
Calculate the price elasticity of supply.

AWdm/OR
{ZåZ gmaUr ‘| àË¶oH$ CËnmXZ ñVa na ’$‘© Ho$ bm^ H$s JUZm H$s{OE ¶{X dñVw H$s H$s‘V 10 é Xr hþB© h¡&
Calculate the profit at each output level in following table, If the price of good is
given Rs. 10.
CËnmXZ Hw$b bmJV bm^
Output Total Cost Profit

0 5
1 10
2 12
3 15
4 17
5 25
6 30
7 35
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IÊS> - X
SECTION - D

{Z~ÝYmË‘H$ àíZ :
Essay type questions :

20) {ZåZ H$s ì¶m»¶m H$s{OE& [2+2=4]
i) ‘wÐm H$m g§MbZ doJ
ii) VabVm nme
Explain the following :
i) Velocity of circulation of money
ii) Liquidity trap

AWdm/OR
H|$Ðr¶ ~¢H$ Ho$ H$m¶m] H$m dU©Z H$s{OE& [4]
Describe the functions of the central bank.

21) "Cƒ AZ{Y‘mZ dH«$, Cn¶mo{JVm Ho$ Cƒ ñVa H$mo àXmZ H$aVm h¡' aoIm{MÌ H$s ghm¶Vm go g‘PmBE& [2+2=4]
'Higher indifference curve gives greater level of utility? Explain with the help of a
diagram.

AWdm/OR
"Xmo AZ{Y‘mZ dH«$ H$^r EH$ Xÿgao H$mo Zht H$mQ>Vo h¡' aoIm{MÌ H$s ghm¶Vm go g‘PmBE&
'Two indifference curves never intersect each other' explain with the help of a diagram.

22) Am¡gV CËnmX Ed§ gr‘m§V CËnmX ‘| gå~ÝY H$mo g{MÌ ñnï> H$s{OE& [2+2=4]
Explain graphically the relationship between Average product and marginal product.

AWdm/OR
XrK©H$mbrZ Am¡gV bmJV VWm XrK©H$mbrZ gr‘m§V bmJV ‘| gå~ÝY H$mo g{MÌ ñnï> H$s{OE&
Explain graphically the relationship between long run average cost and long run
marginal cost.
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